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Trigonometri.

cos(x+ y) = cos(x) cos(y)− sin(x) sin(y)

sin(x+ y) = sin(x) cos(y) + cos(x) sin(y)

cos(x) cos(y) =
1
2

(cos(x− y) + cos(x+ y))

sin(x) sin(y) =
1
2

(cos(x− y)− cos(x+ y))

sin(x) cos(y) =
1
2

(sin(x− y) + sin(x+ y))

tan(x+ y) =
tan(x) + tan(y)

1− tan(x) tan(y)

Integralkatalog
∫
xadx =

xa+1

a+ 1
+ C a 6= −1

∫
1
x
dx = ln |x|+ C

∫
sinxdx = − cosx+ C

∫
cosxdx = sinx+ C

∫
1

cos2x
dx = tanx+ C

∫
1

sin2x
dx = − cotx+ C

∫
exdx = ex + C

∫
axdx =

ax

ln a
+ C 0 < a 6= 1

∫
1√

1− x2
dx = arcsinx+ C

∫
1

x2 + a2
dx =

1
a

arctan
x

a
+ C a 6= 0

∫
f ′(x)
f(x)

dx = ln |f(x)|+ C

∫
1√

x2 + a
dx = ln |x+

√
x2 + a|+ C a 6= 0

∫ √
x2 + adx =

1
2

(x
√
x2 + a+ a ln |x+

√
x2 + a|) + C

∫
1

(x2 + 1)n
dx = In

In+1 =
x

2n(x2 + 1)n
+

2n− 1
2n

In

Maclaurinutvecklingar

ex =
n∑

k=0

xk

k!
+ xn+1B(x)

sinx =
n∑

k=1

(−1)k−1 x2k−1

(2k − 1)!
+ x2n+1B(x)

cosx =
n∑

k=0

(−1)k
x2k

(2k)!
+ x2n+2B(x)

(1 + x)α =
n∑

k=0

(
α
k

)
xk + xn+1B(x) |x| < 1

ln(1 + x) =
n∑

k=1

(−1)k+1xk

k
+ xn+1B(x) −1 < x ≤ 1

arctanx =
n∑

k=1

(−1)k−1 x
2k−1

2k − 1
+ x2n+1B(x) |x| ≤ 1

(
α
k

)
=
α(α− 1)(α− 2) . . . (α− k + 1)

k(k − 1)(k − 2) . . . 1

(
α
0

)
= 1

Övrigt

Tyngdpunkten (xT , yT , zT ) för Ω ges av xT =

∫∫∫
Ω
xρ(x, y, z) dxdydz∫∫∫

Ω
ρ(x, y, z) dxdydz

, analogt för yT , zT .

ρ(x, y, z) är densiteten.


